==
A & 0l & AF 2 E A A
20208 & =04 LEHSIH M-S
M DM
HE: BASSHN 7S
ool BMDS CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
WEMSH 18,636,753 16,301,969 2,334,784
= 43,202
s 500,000
J| 3,728,212
< 1,045,145
s 13,320,194
HMSISHM 2= 721,145 794,430 AT3,285
< 35,281
[ia 685,864
BMNS 721,145 794,430 AT73,285
< 35,281
[ia 685,864
gdus 29 36,610 29,820 6,790
101 @14l 2,520 0 2,520
03 I AHA2 2 HE > 2,520 0 2,520
O=s8A E2X =4 8,000& x1H »90! 720
O3%Z AUt 150,000& »1H =123 1,800
201 et 13,290 11,820 1,470
01 At 22l 13,290 11,820 1,470
oY=t 8,540
OJlI2=&Hl 3,500,000& 3,500
Os2Xh 24 8,000& »7H+90 5,040
o2d+g 4,750
ORSAH 2Z2 No9iAs HMag
100,000& »5H 23| 1,000
OBMsls 298 s F4dx
50,000& »15F *53] 3,750
202 O4dl 16,800 15,000 1,800
01 = LH o4 1l 16,800 15,000 1,800
OJlegR=a 150,000 8H »12& 14,400
oOBMdsrs HRF=A 2 100,000 «2H«12E 2,400
203 YR =&l 4,000 3,000 1,000
03 AIMZ=XH R =AH| 4,000 3,000 1,000
OANMFAYRFEY| 4,000,000& 4,000
ddsts T2 22 20,000 30,000 A 10,000
308 XXM SO0 A 20,000 30,000 A 10,000
08 WEIIZ20HStE X 20,000 30,000 A 10,000
OBMINST2IY 2SY(EHTAHD)
20,000,000& 20,000
HMstsdyH 29 192,063 189,410 2,653
101 14 Hl 27,333 27,482 A 149
04 JIZHHZ22XRHEES 27,333 27,482 A 149




DSHS D
HMSIEHM 25
BYDS (29l 8)
CEH B (BH) - MBEAY - B2 ﬁlf& HD=2
OLMstSHEH 22 2 EAgzA 27,333
oJ=3 68,7203 *1H %262 18,005
OFF - ALY 68,720 x1H x67 4,605
OY9&E=D 100,000& 1 *23| 200
OMES 22,609,000& x11.6% 2,623
OE& &= 1,900,000& *1H 1,900
201 Bt A H| 134,730 131,628 3,102
01 At 22l b 114,840 111,840 3,000
O bt 2H| 21,840
(OPIE=E=2:] 6,000,000 6,000
ORoFH g9+2 170,000& =128 2,040
QmMsts T2 oYK M=
7,000& *1,200% 8,400
O=28I dxz= 400,000& =10 =12& 4,800
O AN FHI 50,000& x12& 600
OLMSHZHEYH T2 29 93,000
OBMssME 208
100,000& x153] x22 2 &} 33,000
OREHAHMEH T2
150, 000& *503| *8JH Bt 60,000
02 332494l 14,890 14,788 102
odNIIe= 500,000& ~12& 6,000
(OFSkIsor=; 150,000& ~12& 1,800
OZoa HHAHAS(SR) 908& *104 =120 1,090
OX=HMsIET Al &2 34| 4,000,000 4,000
odMessHH H & 28 |ANE=>
2,000,000 2,000
03 S AIS H | 5,000 5,000 0
OEMES 23 5,000,000& *13] 5,000
307 212t0| & 30,000 30,000 0
02 I2tH ALALH B X 30,000 30,000 0
Ost&d Nggesit ¢4
10,000,000 30 21 & - EHAl 30,000
SHOI26 = 153,400 148,500 4,900
201 et A | 102,400 93,500 8,900
03 S AI2 H H| 102,400 3,500 98,900
OR2FCt 028t 800,000& 601 OI = 48,000
OxsS&E0d Eilus T2 )
70,0002 *x6IH A~ 1203 50,400
OxS&HNY Filus MESS 29
1,500, 000& *23] 3,000
(OES=3=1a=RelPS s stal - EH A
500,000& *23| 1,000




M DM
B BMSSHN 7
E©el: BMuS (et2l:d )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 47,000 47,000 0
02 PIZHEHAHEE 47,000 47,000 0
O=ss¥eld Folus 2218 XA
20,000,000 =104 2 20,000
OdoR2ofu=sII& X 9,000,000 *3H 2 27,000
405 RHoHE S HI 4,000 8,000 A 4,000
01 AL EFFHSHI 4,000 8,000 A 4,000
OxSsgedE 2olus =3 4,000
OM 4 190, 000& =64 1,140
O Xt 80,000& » 124 960
OkES 1,500, 0002 = 1CH 1,500
O 200,000 =14 200
OAMZ=8 200,000 =14 200
dMs SEHE2 0 23H NA 50,000 50,000 0
< 15,000
s 35,000
201 LB-2d| 50,000 50,000 0
< 15,000
s 35,000
01 At 22l 50,000 50,000 0
OHMDE S45 ZRIY 29
50,000,000& 50,000
< 15,000
s 35,000
sgs 2238 29¢ 14,000 22,000 A 8,000
< 7,000
s 7,000
201 Let24d] 12,000 19,000 A7,000
< 6,000
[ia 6,000
01 At 22l 12,000 19,000 A7,000
osds 220y 2¢ 12,000, 000& 12,000
< 6,000
s 6,000
301 LEXS 2,000 3,000 A1,000
= 1,000
e 1,000
09 HALAHIX RS 2,000 3,000 A 1,000
Oosds T8 UM 2,000,000 2,000
< 1,000
s 1,000
AEA BHsSIsHEH 23 214,700 314,300 299,600
201 et 179,300 114,300 65,000
01 AP 2teltl 179,300 114,300 65,000




M DM
HE: BASSHN 7S
Cel: BlWS (chel: &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O et H| 12,300
OJlE+2Hl 6,000,000& 6,000
O=8Jl gxz 400,000 x1CH*12& 4,800
oOsEXE M 5,0002! %1505 *23| 1,500
OBIANY MAPAE HALY
100,000 53 »23| 1,000
OZ=208 29 2 Akl 102,000
ONTAEMSSHEH T2 )3 (Y8
100,000& *153] x36:2 &t 54,000
ONTANEMESSHEH T2 )3 (ZR0H)
80,000& *123] x50 &t 48,000
C"MssIHH 29 44,000,000 44,000
OEMus SeHE O|0IAl CIAtC Jheg
20,000,000& =14 20,000
307 21201 A 20,000 20,000 0
02 B AAFEX 20,000 20,000 0
oBMEE 24+ T2y g
10,000,000 *20H A 20,000
405 TtHakH S| 15,400 0 15,400
01 AL EFH S 15,400 0 15,400
OMEANBYSSHE 22N =23 15,400
Odo=zAH AX 5,000,000& »2CH 10,000
OZoa Ma 200,000& * 1504 3,000
Oz oKkt 80,000& 304 2,400
stssotel 243 X3 9,400 10,400 A 1,000
201 L2l 4,400 5,400 A 1,000
03 A2 Z Hl 4,400 5,400 A 1,000
ostssoteldgs HAZY 2A X 4,400
O3¢%E 50,0003 *2& 153 1,500
(OF=3=4:] 500,000& 500
O&Hl 2z 110,000& *153] 1,650
O=2Zl 50,000& x153] 750
307 21201 A 5,000 5,000 0
02 QB HAANGEEE 5,000 5,000 0
osgssotel #g4dst X 5,000,000 5,000
sty e 12,000 0 12,000
201 Let24d] 12,000 0 12,000
03 &Ar2 Z I 12,000 0 12,000
OMfetel= BAstserEsl &It
12,000, 000& =12/ 12,000
BEY BASS HSHH REAY 8,972 0 18,972
< 13,281




2N WEANSI
HE: BASSHN 7S
Sl BMDS CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 5,691
201 LBt Y| 15,372 0 15,372
< 10,761
= 4,611
01 AP 22| d| 15,372 0 15,372
OYbt4=24| 2,892,000 2,892
= 2,025
= 867
OBMIS UEYD 75 319 By
100,000 12 23| 2,400
= 1,680
= 720
omZz) 29 A AHH] 210,000 x 123 x4 H 10,080
< 7,056
= 3,024
202 o4l 3,600 0 3,600
< 2,520
= 1,080
01 2L HI 3,600 0 3,600
OTMINRA JI2ER =& 300,000& 1204 & 3,600
= 2,520
= 1,080
QUUEESDS Was 3,474,404 3,589,442 A 115,038
< 56,000
= 3,418,404
SOIY =SS U=UA S 1,099,600 1,220,600 A 121,000
= 56,000
= 1,043,600
NEAW =4 363,800 404,900 A41,100
308 XAHXIGH SO0l & 363,800 404,900 A41,100
08 W=Jl&otistE = 363,800 404,900 A41,100
O=stM alAIdHEZT 29 20,000,000 20,000
O=E4 2A=Z00oI2tdiD gz 29
15,000,000& 15,000
OE4H CtollM2 st 29 15,000,000 15,000
OzZAI|R WH & &= 50,000,000 50,000
OdE=xF 23lll= MEg 4 29
20,000,000 20,000
OELN=E HEgss 29 28,000,000 28,000
OSxuU=E MZ22H IR 14,800,000 14,800
OXNEAHAH tzws 435 16,000,000 16,000
OO NS BT 2H 20,000,000 20,000
OZ=4d CtoljlM2r AL SH 22 10,000,000 10,000
OHYEetd 2 Msds /st 2=stM g
25,000,000 25,000




2N WEANSI
HEM: QUYLEES=E WaAS
Sl RUUEZSDEHAS CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Osts Z2HNU=E2s WE 40,000,000 40,000
OEHXNY SMAS=H 15,000,000& 15,000
OxssW NRESIIMN Azx2)H 29
20,000,000 20,000
OEHd=2dII0tE sHatst) 24 20,000,000 20,000
ORI &M sl 18,000,000 18,000
O©O0lcHALE DB gt st (SW)2 S (B x)
17,000,000& 17,000
s, A 0HE BAE St 257,000 277,000 A 20,000
308 XX SHHSOIH 257,000 277,000 A 20,000
08 I 20HstE = 257,000 277,000 A 20,000
O=sE 2gipssty 29 200,000,000& 200,000
(@OIME=2=NE=FOPNE 57,000,000 57,000
e=20o3tdoledy 55,000 55,000 0
308 XAXISHMSO0|& 55,000 55,000 0
08 W=Jl&otistE = 55,000 55,000 0
OZSSY YOUT 2 (H20H)
35,000,000 35,000
OF. DS T 2L (&)
20,000,000 20,000
ANesEl - JA2HE 22 A& 29,400 30,000 A 600
& 14,700
= 14,700
308 XAHXIGH SO0l & 29,400 30,000 A 600
& 14,700
= 14,700
08 W=Jl&otistE = 29,400 30,000 A 600
OXNgEsdHM MZ2HE &9 NE
29,400,000 29,400
& 14,700
= 14,700
ChE2st 0lF=0d &0 220 = 14,400 21,600 AN7,200
& 4,800
= 9,600
308 XHXIEH SOl A 14,400 21,600 ANT,200
& 4,800
= 9,600
08 W=Jl&otistE = 14,400 21,600 AN7,200
OUEs olFo&E 2=20us 14,400,000 14,400
o= 4,800
= 9,600
S d=2N=RAF 367,000 327,000 40,000
= 30,000
iy 337,000




2N
X ZH -
L= B

el

= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
201 ¢er24| 27,000 7,000 20,000
01 At 22l 9,000 7,000 2,000
ORI+ 9,000
Olt=sl 29 22823 4+
100,000 »9H 83| 7,200
OISl 2% MY 49 BH2Y
100,000 x9H 23| 1,800
03 &Ar2 I 18,000 0 18,000
OltS WAL H&2ds & ALE 18,000,000& 18,000
307 gl2tol & 280,000 260,000 20,000
02 It M AHE L 280,000 260,000 20,000
oltsstn 29 280,000, 000& 280,000
308 XXM SO0 A 60,000 60,000 0
< 30,000
i 30,000
08 WEIIZ20HStE X 60,000 60,000 0
OEMH=DNSNT (LS 4l) X2
60,000,000& 60,000
< 30,000
e 30,000
Stwwa st F0 Zs012 43 AtY 13,000 26,000 A 13,000
< 6,500
s 6,500
308 XX EHHSOIA 13,000 26,000 A 13,000
< 6,500
s 6,500
08 WEII20HStE X 13,000 26,000 A 13,000
Ostuia sty =0 2S0/8 2435
13,000, 000& 13,000
< 6,500
s 6,500
StWWs 1,052,291 1,598,842 A 546,551
ssn X& 456,500 456,500 0
308 AHAIEHHSOIA 456,500 456,500 0
08 WSII20HetE = 456,500 456,500 0
odstets 322,500
Os4dd 45,000,000 45,000
Os4d01 60,000,000& 60,000
O 45,000,000 45,000
OZ&dEMED 18,500, 000& 18,500
OZatn 45,000,000& 45,000
Os4d3g81 35,000,000& 35,000
oz&d1 24,000,000& 24,000




M DM
M RO =SSUE WS
o DSEDDS (EHel:®e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANooll&fs 1 30,000, 000& 30,000
OEf=sg1 20,000,000& 20,000
O FAHEZA XA 120,000
Os4dd 40,000,000& 40,000
O=4dd 40,000,000& 40,000
O 40,000,000& 40,000
O=s40 SH=EXAY XA 4,000,000& 4,000
OZ2&dD WE=EXAY X 10,000, 000& 10,000
D PHNE AHY 595,791 1,142,342 A 546,551
308 XtXIEHH SOl A 595,791 1,142,342 A 546,551
07 IXNSHH2URE = 595,791 0 595,791
Ollw PAWNKR(E HIXA) 595,790,500 595,791
WEAE HLAY K& 1,322,513 770,000 552,513
WAL HEAME X 1,322,513 770,000 552,513
308 XX EHH SOl A 1,322,513 770,000 552,513
08 I 20UstE=x 1,322,513 770,000 552,513
OZdL SwAE 2Ae NA(HSER)
763,392,000 763,392
OE2D DAL A NA(HSEX)
178,361,000& 178,361
ONUIMSE SDAE 2 N (HSEX)
380,760,000 380,760
x-=-0ssw ds XA 295,000 730,000 A 435,000
SuMs Jlgtxd & =4 295,000 730,000 A 435,000
=48 (x,5,2) 295,000 280,000 15,000
308 XXM SO0 A 295,000 280,000 15,000
08 WEIIA20HStE = 295,000 280,000 15,000
oHs 2=+ 84 145,000, 000& 145,000
os4dusstn 3728 29 &
20,000,000& 20,000
O=s410&ssu HAER 249 &
40,000,000& 40,000
O=sF1&sw WY HAZR 24 N2
40,000,000& 40,000
O=s40AnEs 28 24 K&
40,000,000& 40,000
Os4d s+ 249 & 10,000, 000& 10,000
da4d Bs ¥ 54 3,395,752 2,313,991 1,081,761
= 15,758
J| 516,484
< 488,161
s 2,375,349




24 DSHSY
=R PNERC
S R PNER

HAad =M (&2 &)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
HAUE HAHNENFH 2,267,345 1,286,707 980,638

= 3,322
J| 116,991
== 400,262
= 1,746,770
Hagensses I3 178,502 171,682 6,820
J| 89,251
= 89,251
307 2I2t0| & 178,502 171,682 6,820
J| 89,251
= 89,251
05 DIt EF 2 178,502 171,682 6,820
OFAYE BtIS 01300 29 X
178,502,000 * 104 & 178,502
J| 89,251
= 89,251
HAodgNSEs ) (ZH|) 3,960 3,960 0
o 1,188
= 2,772
307 212t0| & 3,960 3,960 0
o 1,188
= 2,772
05 QIZ2tREF 2 3,960 3,960 0
OYUZ0I2tAI0l SAFA HS2IHAH|
3,960,000 *1JH & 3,960
== 1,188
= 2,772
HAodg)ssEs N (MHMME) 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
05 QIZtREZ 10,000 10,000 0]
OXAYE S O20I0l 29X
10,000,000 * 104 & 10,000
HAGEX AN BHXI A& 50,680 49,360 1,320
J| 25,340
= 25,340
307 QI2t0| ™ 50,680 49,360 1,320
J| 25,340
o 25,340
05 QIZtREZ 50,680 49,360 1,320
OFAEKX A BHXI XIS 25,340,000 x2H 50,680
J| 25,340
= 25,340
Ha4d g3 N 91,600 126, 100 A 34,500
307 212t0| & 91,600 121,100 A 29,500
02 DIZHE AAIRE E X 13,000 12,500 500




24 DSHSY
=R PNERC
S R PNER

HAad =M (&2 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OAIIRE HMEES X 10,000,000 =14 A 10,000
OFOMOI&F2 Mol HEE
3,000,000 * 104 & 3,000
05 QIZtREZ 78,600 108,600 A 30,000
O&29 QHAAEY 2¢ 78,600,000 x 104 & 78,600
HAd s R (ZH|) 6,500 6,500 0
= 2,000
= 4,500
307 2Iz2t0| & 6,500 6,500 0
& 2,000
= 4,500
05 QIZ2tR EF 2 6,500 6,500 0
OFAHE HEs XS 162,500& *40H 6,500
= 2,000
= 4,500
HAYE Hate| HAF H&EA 161,500 140,000 21,500
& 80,750
= 80,750
307 gizto| A 161,500 140,000 21,500
& 80,750
= 80,750
02 QIZ2FA AAIE E X 161,500 140,000 21,500
OFAE HAZ 9AF HEHA
161,500,000 =14l 161,500
& 80,750
= 80,750
HAaEdHSEOE XA 24,000 24,000 0
& 9,600
= 14,400
307 2iz2to| A 24,000 24,000 0
&< 9,600
= 14,400
02 QIZIA AAIE E X 24,000 24,000 0
o=sd Ote =9 4,000,000 63| 24,000
o= 9,600
= 14,400
HdAUES0ote N 8,305 8,305 0
= 3,322
= 4,983
307 QI2t0| ™ 8,305 8,305 0
= 3,322
= 4,983
02 QI2tAAMAIE E =X 8,305 8,305 0
O&FAYE S0t g9AH 830,500 100K 2~ 8,305
= 3,322
= 4,983




2N

Hm: HAW 25 Y 84
chelr HAW AHSH CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
XN HAE 2P 2 (AM2) 2,800 6,800 A4 ,000
J| 1,400
= 1,400
307 2Iz2t0| A 2,800 6,800 A4,000
Jl 1,400
= 1,400
05 QIZ2tR EF 2 2,800 6,800 A4 ,000
OFAHE HFHARS =29 2,800,000 *1JH & 2,800
J| 1,400
= 1,400
HAadE AL 29 706,418 738,000 N 31,582
307 2iztol & 706,418 718,000 A 11,582
05 QIZtR E 2 706,418 718,000 A 11,582
OFAEEHZ E2H 557,535,000 =14 A 557,535
OZFHAUSSAY Qa2
148,883,000 1 A 148,883
XNE A8 HOHIIFR 2 (=HAIE) 4,000 0 4,000
J| 1,000
= 1,000
= 2,000
307 QI2t0| ™ 4,000 0 4,000
J| 1,000
= 1,000
= 2,000
05 QIZtREZ 4,000 0 4,000
OFAHE 2HARE 29 2,000,000 *2JH & 4,000
J| 1,000
& 1,000
= 2,000
HAHE 2351918 HE (M3 1,000,000 0 1,000,000
= 300,000
= 700,000
401 AlEHIZL 201 Y| 1,000,000 0 1,000,000
= 300,000
= 700,000
01 Al&H| 1,000,000 0 1,000,000
OFAYE 25oE HE 1,000,000, 000 =14l 1,000,000
=} 300,000
= 700,000
HAGLEAIE SANL A& X 19,080 0 19,080
& 5,724
= 13,356
307 gizto| & 19,080 0 19,080
& 5,724
= 13,356




2N nEMs

Hm: HAW 25 Y 84
chelr HAW AHSH CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 19,080 0 19,080
OFAESHAE SAL MM
19,080, 000& 14! 19,080
< 5,724
e 13,356
A0 FarE B4 1,128,407 1,027,284 101,123
= 12,436
J| 399,493
< 87,899
fia 628,579
FAaERSIZAE X 2,300 2,900 A 600
= 1,150
s 1,150
307 gl2tol & 2,300 2,900 A 600
= 1,150
s 1,150
02 It M AHE L 2,300 2,900 A 600
ORI TAY X
2,300,000& =100 CHXl 2,300
= 1,150
[ia 1,150
ol e - B58s & 17,000 12,500 4,500
307 21201 A 17,000 12,500 4,500
02 It S AHE L 17,000 12,500 4,500
OFLEURMNESHAA - HAHLCES (3
) 17,000,000& 17,000
KNAAME EAESEXNIHA 2= 102,320 93,720 8,600
J| 51,160
s 51,160
307 21201 A 102,320 93,720 8,600
J| 51,160
[ia 51,160
05 RIZt2IEt = 102,320 93,720 8,600
oyAE SEXNIMA 2=
102,320,000 * 100 A 102,320
J| 51,160
[ia 51,160
FAEHME=EREH 29 134,593 157,000 A 22,407
307 21201 A 134,593 147,000 A 12,407
05 RIZt2IEt = 134,593 147,000 A 12,407
OHEAGLAHEEXNEH A2
129,593,000 * 100 A& 129,593
OFAGAEEINHEE 2208 29
5,000,000& 5,000
HAHMESIME 2 (2H]) 31,160 30,770 390




=
9 ) HAW HERAY

P DS D
B: AW 25 9

=4

(=}

- Y- C2(EA) - A

01
o

=

i
2m

M

9,348
21,812

307 21201 &

EUNL

31,160

9,348
21,812

30,770

390

&
=]
S
H0
Jm
oy

©
[0
B>
[
0x

0
Ju
>
=

X
-

HIE AtE =
20,000,000 14 2

©
0
B>
[
0x
0
Ju
>
P

Mg SAFRG X0
11,160,000 174 &

EURLY

EUNLY

31,160

20,000

6,000
14,000

11,160

3,348
7,812

30,770

390

b
im
o
E:
=
[l
Hu
U
0
H0
08

S

2l

100,000

50,000
50,000

88,568

11,432

307 21201 &

Il

N

100,000

50,000
50,000

88,568

11,432

&
e
]
0
Jm
oy

©
02
k>
m
0
s
-
[E
tu
J
0%
Ho

e
25,000,000 =4

Il

H

100,000

100,000

50,000
50,000

88,568

11,432

St & HA4ad X&

T

Il

HJ
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62,465
26,771
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1,656
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89,236

89,236

62,465
26,771
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m Y EAE KR(EH)

EUNL

11,500

3,450
8,050

12,500

A 1,000
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11,500

3,450
8,050

12,500

A 1,000

o
[«)
o

00& =10 £

M

11,500

11,500

3,450
8,050

12,500

A 1,000




=

LSS
- PNERCE Nt

=
D90 BAW E5RY

= _ — d =
E - G2 (3H) - NRAY - BAES e HlnE2
g g HaAE X (XMIHE) 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
05 RIZtRE = 3,000 3,000 0
ostm 9 HA
,000,000& *14 3,000
A24HEH 29X 447,936 371,780 76,156
J| 223,968
s 223,968
307 21201 A 447,936 371,780 76,156
J| 223,968
s 223,968
05 RIZtREt = 447,936 371,780 76,156
OF=ENSE-1=| 223,968,000 *20H A 447,936
J| 223,968
i 223,968
AEEH 29X 64,860 60,772 4,088
= 19,458
= 45,402
307 glz2tol & 64,860 60,772 4,088
< 19,458
= 45,402
05 RIZt &= 64,860 60,772 4,088
OFAYEH OF
,280,000& 2H 52,560
= 15,768
s 36,792
OFAEEHH SALA HSIHAHI
102,500& *10H * 12,300
= 3,690
e 8,610
d449 dH 22X & 63,000 45,000 18,000
307 glz2tol & 50,000 40,000 10,000
05 RIZt & = 50,000 40,000 10,000
OFA~Y dH 2 20,000,000 *20H 2~ 40,000
o&FEAYE &H 10,000, 000& 10,000
402 QI2H X201 A 13,000 5,000 8,000
01 212t 2 A E = (RERTH ) 13,000 5,000 8,000
oO&FaYE &H Dl 13,000,000& 13,000
A2EHEEX S 17,000 17,000 0
J| 11,900
i 5,100
301 LEAZ 17,000 17,000 0
J| 11,900
s 5,100




2H: DEASD
B AW 295 2
Sl 90| AW 2SS4

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 17,000 17,000 0
oOdEA~Y SEIH 1,000,000& =174 17,000
J| 11,900
[ia 5,100
FAEHAZRXA 22,572 24,448 A 1,876
= 11,286
< 5,643
[ia 5,643
301 LEtEA S 22,572 24,448 A 1,876
= 11,286
< 5,643
s 5,643
01 MEIBEE 263 22,572 24,448 A 1,876
OHdZA~E RAMES NF 22,572,000& 14 22,572
= 11,286
S 5,643
s 5,643
JIE EAEYRFA 17,178 16,578 600
201 £B-2dH| 9,378 9,378 0
01 At 22/l 9,378 9,378 0
OJle=+&Hl 3,600,000& 3,600
OFAHEE €388 6,700 4501 x12& 3,618
OEZ2X =4 8,000& *3H 902! 2,160
202 O4dl 7,800 7,200 600
01 = LH o4 HI 7,800 7,200 600
OJl2ge=d L IsFA
150,000 3 122 5,400
OFAYE R NS
100,000& »2H 128 2,400
M2 ZSXAIE M=222E 4,752 3,168 1,584
301 EEd = 4,752 3,168 1,584
0B A =R RAB A4S 4,752 3,168 1,584
OASEXAE ASISRRH
6,000 «3& #2220 «12& 4,752
SN2 29Y 421,636 658,519 A 236,883
= 27,444
< 4,800
s 389,392
22 2 290,213 553,799 A 263,586
2 27,444
[ia 262,769
SN2 AL 2el 139,325 153,199 N 13,874
101 @124l 63,126 57,840 5,286




2N
X ZH -
L= B

el

HE - B (3H) - KISAY - BYS il HImEET
JAHAZ2NHE S 5,760 0 5,760
SR E2X =4 8,000 x2H x 1352 2,160
S2& WA 150,000& 2H 128 3,600
ZAH22NSES 57,366 57,840 AN4T74

OFHZSSENZ TNUHEYREX 22Y 28,683
OoJlzs 68,7203 x 1 280 19,242
OFs . 2% 68,7203 x1H 652 4,467
OFEFItHI 100,000 »1H »23| 200
OMEE 23,908,400& *11.6% 2,774

Ex= 2,000,000& =13l 2,000

OZHSSE M2 FA2el URY 28,683
OPIR--= 68,7203 x1H »280 19,242
OF%s . 2X¥ 68,7203 x1H 652 4,467
OZEFOtHI 100,000 » 1 »23] 200
OMES 23,908,400& *11.6% 2,774
@)= 2,000,000& x13] 2,000

201 et 71,399 75,659 A 4,260
01 At 22l 53,224 54,384 A1,160

oY=t 39,880
O M2 JIZg=8Hl 300,000& »12& 3,600
O=t&Ed 83 210,000 128 2,520
oM IS8 = (1002 ) 2,000& =4000H 800
ORFID & XHEH O 500& *6,0000H 3,000
OEN ¥ U224 &5 4,000,000& =13 4,000
O&ENEHEESE 500,000& *43] 2,000
O AMzel Z208 & 2HEEA2 R

= 700,000& =128 8,400
OZ N2 A SXE= 420,000 123 5,040
ORFIDAIAE R X 2= 520,000& »12& 6,240
O2ct2 HoIEHHOIA JI=X| MHlA

1,640,000& 13l 1,640
Od1zg 150,000& =122 1,800
OMER=EE 70,000& x12& 840

oM E2X =4 8,000& 2 135 2,160

ogxtz 11,184
OZd =gl 400,000 = 1CH~12& 4,800
O& =7l 60,000& 30 x 122 2,160
odla 8,000 =40 ~12& 384
O3J1&&E DI 40,0003 801 128 3,840

02 =224l 18,175 21,275 A 3,100

03323 % HA 10,775

O(M)SBE= A ZE23l 36l 300,000 18] 300




M DM
B CAHB 29
el M2 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O M2 34| 90,0003 »x2H 180
Ost=2E X283 A3l 115,000& * 13| 115
OS3 M2 (SEAR) HalHl
100, 000& * 12l 100
O M2t EHOIX 834 082
750,000& 123 9,000
O M2 getdstes 5,000& 30« 12& 180
OZN2 0|t 2XNHEES
25%+3,0002 x12& 900
OZIEC N S22 (ANE, Ha S4l)
1,000, 000& *53| 5,000
O N2 HLHEI| HA 100,000& »24TH 2,400
202 4l 4,800 8,400 A 3,600
01 = LH Yl 4,800 8,400 A 3,600
OJlegex=a 150,000& x2H x12& 3,600
OEAM2 HREY 100,000 1H < 12& 1,200
Q2P N 0K 56,400 56,400 0
201 Let2d] 6,400 6,400 0
01 At 22l 6,400 6,400 0
C&FJIIZtES 200,000& 122 2,400
O NYHEAH 1,000& =4, 0004 4,000
405 RHoHE S HI 50,000 50,000 0
02 = A=l 50,000 50,000 0
BB MNE &N 50,000, 000& 50,000
M2 2at2E 29 39,600 44,200 A 4,600
201 Let24d] 39,600 43,600 A 4,000
03 A2 | 39,600 16,000 23,600
ORHUH 29 300,000 *122 3,600
025 LH LAR 40,0008 50| x 122 24,000
OTHZZD BAS 2E T2y 29
4,000,000& %33 12,000
SN2 HZAIZE AE ALY 54,888 0 54,888
= 27,444
i 27,444
101 1Al 54,888 0 54,888
- 07,444
e 27,444
4 D122 E2EXREES 54,888 0 54,888
O3 M2 H2Al2t HEXE JI2HH 224X
s&E2 2,287,000& 128 »x2H 54,888
= 07,444
s 27,444
H2M2 23 XA 131,423 104,720 26,703
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2A:
3y =
X

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OQHUSARS 50,000& x12& 600
Oo&IIe3 600,000& »12& 7,200
OX2=ME FX 2 (AL, Mo, S4)
800,000& x53] 4,000
03 A2 Z Hl 10,600 2,000 8,600
oM T2 29 10,600
O=2sd% 22 200,000& x53] 1,000
O=2std 3 ZA= 40,000& 203 x12& 9,600
405 RHoHE S HI 8,500 5,000 3,500
01 AL EZFH S 3,500 0 3,500
OX2E N2 HEZHH 3,500,000 = 1CH 3,500
02 =M=l 5,000 5,000 0
oOxsZN2 &AM 5,000,000& 5,000
Hsitd s4 7,281,482 6,464,429 817,053
J| 2,801,728
< 460,903
s 4,018,851
M= el & &M X3 3,565,051 3,327,551 237,500
< 164,000
s 3,401,051
AEH=esid 17,951 20,351 A 2,400
201 £B-2%| 8,351 8,351 0
01 At 22l 7,680 7,680 0
OJle=+=&Hl 400,000 x12& 4,800
OE2X =4 8,000& »4H +90 2,880
02 =224l 671 671 0
ORERS 671
Og et 3303 x40 +123 159
Ol 2,130@3*2024 128 512
202 Od4dl 9,600 12,000 A 2,400
01 = LH o4 1 9,600 12,000 A2,400
OJlegR=a 150,000 4 H «12& 7,200
O2AE M=EsU3 s 100,000& »2H »12& 2,400
EE=HA =4 N& 224,000 249,000 A 25,000
307 gl2tol & 201,000 199,000 2,000
02 It M AHE L 63,500 63,500 0
osdgs =& A 14,000, 000& 14,000
oLtiggss ¢ N& 10,000, 000& 10,000
O3FASSEHM 25U &t
1,000,000 *35& = 35,000
OAOIEEUS &HINER, Z) 4,500,000& 4,500




M DM
FM: HsdE 84
@2 Ms s & 2™ XNE (&)
5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
04 DI2HHALALSE E X 137,500 135,500 2,000
OHAE=SCHH EalFIIHa HEl XA
2,000,000& 158 = 30,000
OZ=JI(BH)Hal JH =l 97,500,000& 97,500
omB=-03s M=l 5,000,000& 5,000
OFAYE Z& =303 M=l 5,000,000& 5,000
402 RIZ2FX20l A 23,000 0 23,000
01 It 2 A B (KM &) 23,000 0 23,000
O RE3 JIsEZ 10,000, 000& 10,000
Ootx8sal JIsEZ 10,000, 000& 10,000
O 2EZ2EZEse JlsEd 3,000,000 3,000
S4ZHsE 2E N 348,000 308,500 39,500
307 21201 A 348,000 308,500 39,500
02 LAFAAHEX 6,000 6,000 0
O=4d, tid, =& M= stetiial &It
6,000,000& 6,000
03 QI HE2IHEx 330,000 285,000 45,000
OHM=s3 2 330,000, 000& 330,000
04 DIZHHALALSE E X 12,000 17,500 25,500
OM= & A 12,000, 000& *13| 12,000
COME &I X ds =EH 460,000 351,000 109, 000
307 glz2+ol & 450,000 341,000 109, 000
02 HAFHAANGFEX 450,000 341,000 109, 000
OZ2NAE tal&It & d=2sEH K&
440,000,000& 440,000
OZOIME He U HAZES 54 N
10,000, 000& 10,000
402 RIZEX20| A 10,000 10,000 0
01 2I2EH 2 A B (KM ) 10,000 10,000 0
OZOIME Het U HAES 2HSE N
10,000, 000& 10,000
d=axM=0a izl 2 &It 126,400 180,000 A 53,600
307 glz2tol & 126,400 180,000 A 53,600
02 P HAHEE 19,400 23,000 A 3,600
©3.1&7|¢8 OttEWUSl &It 8,400,000& *13] 8,400
O&F=AENA & dIMAE FIt
11,000, 000& 13| 11,000
04 QIZFHALAIE B & 107,000 157,000 A 50,000
O&d= We=2ct0lgdthal M
10,000,000& =13l 10,000
OsE=(3sY) sl M= 18,000, 000& 18,000




=4d
hal & ©x
5 - 4
BB - Sl (31) - NRAY - BES Ol &+ o4 e
OLH = At s Ua M=
9,000,000& x13l 9,000
oHior & d&018 dI2EFUE Of=
25,000,000& =13l 25,000
OuWor & HOIE=SUE M=l
30,000,000& =13l 30,000
osd 2 SIS&UE
15,000, 000& * 13| 15,000
Zofel M=03 HxE 2 FOIt 208,500 208,500 0
307 21201 A 208,500 208,500 0
02 It S AHE L 201,000 201,000 0
OHN263 =Y HOMsUa =t
180,000, 000& 12| 180,000
OM4038 M= HOHIM=sUE =t
5,000,000& =13l 5,000
020208 =X MEOHAMSUI It
4,500,000& %13 4,500
020208 SSZMHSMM SR &It
2,500,000& =13l 2,500
OHM18al 5 =0t &It
4,500,000& *13] 4,500
OHM14al s ANZHMHAMSUE FOt
4,500,000& %13 4,500
04 DIZHHALALSE E X 7,500 7,500 0
020208 =4zt sot=2Hal HA
3,500,000& =13l 3,500
OSHYE =552 Zoe MEM=sUs Nzl
2,000,000 x2&5 = 4,000
=S 2FXA 327,200 405,200 278,000
307 21201 A 327,200 327,200 0
02 ItFAAHE R 56,000 56,000 0
odENsns 29 8,000,000& 8,000
OZE=E =UAAAs Hal &It 3,000,000& 3,000
OZ=8 MdEN=sUE It 5,000,000& 5,000
OHAZS AII o =AY N
40,000,000& 40,000
03 BIAHMHE2IHIEL 261,200 261,200 0
oOFMeN=Es 29 250,000, 000& 250,000
os=2g 2R3 22 11,200, 000& 11,200
04 DIZHHALALSE E X 10,000 10,000 0
OZOMAHM= & Nz 10,000, 000& 10,000
S8 MsU3 Hx X 380,000 0 380,000
307 glz2tol & 380,000 0 380,000
04 QIZFHALAIH E = 380,000 0 380,000




M DEHSH
N MsNY |4
|

@2 Ms s & 2™ XNE
SA - ZE-B(EA) - NRAY - B S il &t o il
osgHUM=EUE XA 380,000
Os4ds 60,000,000& 60,000
OFFSE=) 40,000,000& 40,000
O2=8 40,000,000& 40,000
od 30,000,000 x8¢H 240,000
QM AME SEHUHS i A 20,000 20,000
307 glz2+ol & 20,000 20,000
04 QIZFHALAIH E = 20,000 20,000
OLMNE AME SEHUHS i =
20,000,000& =13l 20,000
S8 ASEH = HUAUE WA 25,000 25,000
307 gl2tol & 25,000 25,000
04 DIZHHALALSE E X 25,000 25,000
OYZ&tRH &= HILIACHS Nz
25,000,000& =13l 25,000
A= HHERIE 2l i 30,000 30,000
307 21201 A 30,000 30,000
04 DIZHHALALSE E X 30,000 30,000
OHOFZB XA ZH M= HBHESE Hal M=
30,000,000& =13l 30,000
ZIEZEAIE H28H 20U HA 45,000 45,000
307 21201 A 45,000 45,000
04 QIZFHALAIH B = 45,000 45,000
OzFEZEHAIE dIEH s=Us Nzl
45,000,000& *13] 45,000
HEslI&Et =.5.10 SF2U3 KA 15,000 15,000
307 glz2tol & 15,000 15,000
04 QIZFHALAIH B = 15,000 15,000
O=7E3l¥ =,5,10 s0tel SU3 A
15,000, 000& 13| 15,000
BHOF ANMXEZH ECHOIH=E USRI M= 50,000 50,000
307 glz2tol & 50,000 50,000
04 QIZFHALAIH 2 = 50,000 50,000
OO X2 ECtOIN=E WS M=l
50,000,000& x13l 50,000
Ols=0tctEWU2l HE X2 140,000 140,000
307 gl2tol & 140,000 140,000
04 DIZHHALALSE E X 140,000 140,000
O=s4d OtetEa i 140,000, 000& 13| 140,000
ZEE= MRA =M 218 82 NEUE 10,000 10,000




M DM
3 MsaY |4
@2 Ms s & 2™ XNE (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 10,000 10,000 0
04 DI2HHALALSE E X 10,000 10,000 0
OZRMEZMRA=EH 218 A2 NEUWS =zl
10,000, 000& 13| 10,000
sdzZ=s+g€sa =+ 21 KA N&E 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
Os4dz =783 282 N
20,000,000& 20,000
Os4dz =783 ¥l N
10,000, 000& 10,000
s 248 XN 300,000 300,000 0
307 21201 A 300,000 300,000 0
05 RIZt2IEt = 300,000 300,000 0
OFMAAZ=HMEH 2 300,000, 000& 300,000
ZEMSA ZE WS 018 det2E=ZUs M 10,000 10,000 0
Z
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OZHdE=ZMRAZEZ =M dAd2==Z20 3
o =l 10,000, 000& 10,000
A28 =8 84 350,000 350,000 0
< 140,000
i 210,000
301 LEHZ 350,000 350,000 0
< 140,000
s 210,000
V=t - 2sRS24= 350,000 350,000 0
oO=%d 2328 s4(6Y) 350,000,000 350,000
< 140,000
[ia 210,000
AEZXOLAEY F& 24,000 30,000 A 6,000
< 12,000
[ia 12,000
307 21201 A 24,000 30,000 A 6,000
< 12,000
s 12,000
04 DIZFHALALSE E X 24,000 30,000 A 6,000
O34 Scllate g EY 23
24,000,000 24,000
< 12,000
[ia 12,000
A2 HAEIHE 1002018 3013 =7 U3 24,000 0 24,000




2 D
PSEL

SR SH X (29l 8)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

12,000
12,000

M

307 21201 & 24,000 0 24,000

12,000
12,000

EUNL

04 QIZHHALALH B £ 24,000 0 24,000
OZ AT ZHY HateltHE100=E018 3U3=s
N = 24,000,000& 13l 24,000

12,000
12,000

EURLY

20208 EZEAME U2 HE 400,000 0 400,000

307 21201 & 400,000 0 400,000

04 QIZFHALAIH 2 = 400,000 0 400,000

020208 ZELFAINSHE N =
400,000,000& =13l 400,000

MEHE E5 ¥ |4 836,431 826,878 9,553
301,728
196,903
337,800

S

EUNL

Lot E A WX (2SX

Y

) 136,440 134,040 2,400
68,220
34,110
34,110

S

UL

307 gIz2tol & 136,440 134,040 2,400
68,220
34,110
34,110

S

UL

o
w
e
S
il
=t
2
0
20
02
o
H
P

136,440 134,040 2,400
At BH X 136,440,000& 136,440

68,220
34,110
34,110

©
e
T
0z
iy
0
paa}
i

S

Mo

HEEAMEYSI A X (2SX2) 109,152 80,424 28,728
54,576
27,288
27,288

S

UL

307 21201 A 109, 152 80,424 28,728
54,576
27,288
27,288

S

VR

= HE = 109, 152 80,424 28,728
oAM= H IS B 109, 152,000& 109, 152
54,576

27,288
27,288

S

M

Fad ATXDA 2F 50,000 50,000 0




2N
X ZH -
L= B

el

WEHS
st |54
MEHsE 25 @ |4

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 40,000 40,000 0
02 QIZHA AAIE E X 40,000 40,000 0
0OfAE ALIXPA 22Y 30,000,000 30,000
OCclE0E &=&EHl XS 10,000,000& 10,000
402 BI2H X 20| M 10,000 10,000 0]
01 It EANSEXZ (MM A) 10,000 10,000 0
oclgotre 28 XN 10,000,000 10,000
METE AR 22 69,500 169,500 A 100,000
307 2iz2to| & 69,500 169, 500 A 100,000
02 QIZ2IA AAIE E X 33,500 133,500 A 100,000
OHM153 =Y =24 MEMSUS 2
30,000,000 13| 30,000
O M43 EY XA SA2AE=2203 &I
3,500,000 *13] 3,500
03 QIZIHEHESIHIEX 36,000 36,000 0
ONESEM=EANEX &= X
200,000 x15H x12& 36,000
AZ2AX0EF XS 57,600 57,600 0
J| 40,320
= 5,184
= 12,096
301 et A= 57,600 57,600 0
J| 40,320
== 5,184
= 12,096
12 JIEtE2 A= 57,600 57,600 0
oOAZ=2AX 0l X 57,600,000 57,600
J| 40,320
= 5,184
= 12,096
ool Ax=2AXo2E A 9,600 0 9,600
J| 6,720
= 864
= 2,016
301 dEtE M= 9,600 0 9,600
J| 6,720
& 864
= 2,016
12 JIEtE2 A= 9,600 0 9,600
OZR AZ2AXOISH XA 9,600,000 9,600
J| 6,720
= 864
= 2,016
MO ME Y SXNEA BHX K 263,784 218,324 45,460




2N WEANSI
HH: YR |4
Selr MEHS B2 o S4 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Pl 131,892
& 65,946
= 65,946
307 2iz2to| A 263,784 218,324 45,460
J| 131,892
& 65,946
= 65,946
03 QIZIHHEHESHHIEX 263,784 218,324 45,460
OZOIME =K =X BHXI 263,784 ,000& 263,784
J| 131,892
= 65,946
= 65,946
HEXNESL 2e(EX) 86,523 80,550 5,973
o=} 36,595
= 49,928
307 QI2t0| ™ 86,523 80,550 5,973
= 36,595
= 49,928
02 QI2tAMAIE E X 33,333 33,340 NT
OMENsZz I 24 33,333,000 33,333
& 10,000
= 23,333
03 QIZIHHEHESIHIEX 53,190 47,210 5,980
OMEMSXNE A XM HI| 53,190,000 53,190
= 26,595
= 26,595
oo MEH=E SHA(EX) 53,832 36,440 17,392
& 26,916
- 26,916
307 QI2t0| ™ 53,832 36,440 17,392
& 26,916
o 26,916
03 UAHHEEISIHES 53,832 36,440 17,392
OFOMC M=EXNEX HKLIHSEH 53,832,000 53,832
= 26,916
= 26,916
M= JIBAIE &= 2,680,000 2,110,000 570,000
J| 2,500,000
= 180,000
NEMESAIEXA 180,000 610,000 A 430,000
401 Al HI L 204 HI 135,000 110,000 25,000
01 Al&H| 135,000 110,000 25,000
oots2sJI7 &X 125,000,000 125,000
oflss)I? KA 10,000,000 10,000
402 SI2HXHE0| & 45,000 150,000 A 105,000




2N
X ZH -
L= B

el

Al
l

WEHS

sae |4

= JIEHAIE =5

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

01 2IZEH 2 A B (KR ) 45,000 150,000 A 105,000
O3JAEBSHH JIsEL 45,000,000& 45,000

SUMSHAH HE 1,500,000 0 1,500,000
J| 1,500,000

401 Al HIZ 201 8] 1,500,000 0 1,500,000
J| 1,500,000

01 A& HI 1,500,000 0 1,500,000
O=2XNsdE 28 1,500,000, 000& 1,500,000
J| 1,500,000

o =2 AE 1,000,000 0 1,000,000
J| 1,000,000

401 Al HI L 2T 1,000,000 0 1,000,000
J| 1,000,000

01 A& Bl 1,000,000 0 1,000,000
OFHe ==& AE 1,000,000, 000& 1,000,000
J| 1,000,000

ARD MEISAL 2 B2 200,000 200,000 0
< 100,000
[ia 100,000

A2 HMSAL Js2EY 200,000 200,000 0
= 100,000
[ia 100,000

401 Al HIZ 201 I 190,000 140,000 50,000
< 95,000
s 95,000

01 A& HI 190,000 140,000 50,000

ONMoIEEH A& (7E,25)

60,000,000& 60,000
< 30,000
s 30,000
OFMUAEZXHME JIsSEZ 60,000,000& 60,000
< 30,000
[ia 30,000
oOs4ds t22sJ1+ 41X 70,000,000 70,000
= 35,000
s 35,000

402 QI2H X201 M 10,000 60,000 A50,000
< 5,000
[ia 5,000

02 QI 2 A EZ (01X THS) 10,000 60,000 A 50,000
OANOIE=ZZE JIsE22 10,000, 000& 10,000
< 5,000
s 5,000

MEHE 84 2,972,343 1,579,099 1,393,244
s 500,000
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2N
eS|

el

X ZH
S =

WEHS

HSAE 22

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
~EBXZEIE HUAR ZA S2H HOE
=% 3,000,000& x12& 36,000
O&dlx==2=2 2,200,000 x12& 26,400
ogtrst2te| X & 3l 120,000& *1H 120
OA&E&EH RXNE 20,000,000& 20,000
O™ ZHl 2,229
OANRA ALtz 9082 *1CH*104 =105 954
OLLEHIO &MU 1,500& %2004 300
OsE20 =D, & )| 1,500& *6504 975
O0IEXSX B8& 150,000& = 1CH 150
202 044l 9,600 13,200 A 3,600
01 2LH O HI 9,600 13,200 A 3,600
oJlgge=x=4a 150,000& x4 ~12& 7,200
OFEFIEFS; 100,000 22 x12& 2,400
206 M = Hl 6,000 5,100 900
01 X2t 6,000 5,100 900
0O2s O 30,000& *50H 1,500
OEOIHE 30,000 x20H 600
O&C HE & &8 EE=HAHA
13,000& *300 & 3,900
401 Al HI L 2 0HHI 61,000 627,000 A566,000
01 A& HI 61,000 627,000 A566,000
OEFTEZEIE &COFE Ay ol &« &
2 A(13,400m") 20,000, 000& 20,000
OZeHIE =&d% JFXNXD| 10,000, 000& 10,000
OFTEHINE itz X EHY 9,000,000 9,000
OFTEHEIE, MISHH MHAX H=
22,000,000& 22,000
SFEZIIMSHE A& 22 169,462 225,061 55,599
101 2124 d| 30,552 27,381 3,171
03 2IAHAZZXHE = 2,160 0 2,160
O3 SE2X 24 8,000& »3H x90 2,160
04 JIZtHIZ22XNSE S 28,392 27,381 1,011
OET2MSsSHYH sFFZH o8 28,392
(OPIR==] 68,7203 1 250 17,180
O . EXa4Y 68,720& x1H 56 3,849
OY ZE I 100, 000& * 14 x23] 200
OMEE 21,229,000 *11.6% 2,463
OJI2tH 22X § &3 2,000,000& x13| 2,000
OEF2SIHSHEH E=MHH o2
150, 000& *6H 33| 2,700
201 et A | 132,310 134,180 A 1,870




2N nEMs
g dEgds |4

S MFAIE 2el (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 AFR2t2ltl 34,060 35,930 A 1,870
OBt~ 31,660
OMsHdH JI2+2H| 200,000& =128 2,400
OstFAESF 330,000& =128 3,960
O2%3 ¥4 2 HFM A4S
550,000& *53] 2,750
Os2ZIl EIldMN =2 150,000& * 13| 150
OfoZH 89 =2 150,000& «12& 1,800
OFIIANE FIIAAN +42
1,000,000& *13l 1,000
OEIIANE ™22 HE =2
700,000 *122 8,400
OAZANE HHRRBY (8 +42
270,000& =128 3,240
O2+Hels8d el === 310,000 122 3,720
OFoIE SN e +42
190,000& =128 2,280
O& =21 ®Xlaeal 80,000& 128 960
CaUlMs2 SIIE At =5
1,000,000& *13l 1,000
O=sgll gdxz 200,000& «1CH* 128 2,400
02 =24l 98,250 98,250 0
o0z % HA 62,700
(OFSIRE=; 5,000,000& «12& 60,000
Oot=Ee= 200,000& 122 2,400
Osd)l dates 5,000& x12& 60
Ofigs ¢ Zstaeli 3l
120,000& »2H 240
OMsdH HER 1,355& %6,0004 *12l 8,130
OHSHE MDA L LA UYS
1,355 «4CH x10£ =100 5,420
OAMEZH RANE=> 22,000,000& 22,000
206 M= Hl 6,600 6,500 100
01 M2 4l 6,600 6,500 100
oxgs & &7 30,000& = 1004 3,000
OM=sdH 28 7¢ 2,000 4502 x4 3] 3,600
FHUENSSE AL 22 85,020 210,320 A 125,300
101 1Al 12,000 10,400 1,600
04 JIZtHZ22 s+ 12,000 10,400 1,600
OMsSZH 2el AR 12,000
OFAQR 150,000 3«10 4,500
OM=o g 150,000& »10¥ 53| 7,500
201 et 66,020 69,920 A 3,900




2H: DEASD
MY MEIS R4
ool MSAIA 2l

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AP 22| H| 9,900 13,800 A 3,900
OBt 2H| 9,900
OHEIHEZBA =42 250,000 x12& 3,000
OS&EA ADE 300,000 x12& 3,600
osdo 50,000& *40H4 2,000
O&C "Hlg & M=H 13,0002 100 = 1,300
02 B32%H| 56,120 56, 120 0
022322 % HA 56,120
OFEIIe= 1,900,000 x12& 22,800
Ot 22 860,000& x12& 10,320
OFIIANE EHIIHA 1,000, 000& *13] 1,000
OBHMEHSDY LYANLHY 242
2,000,000& 13| 2,000
OZFMEHSSE AME &Hl X
20,000,000 20,000
401 AlEHIZL £ 0HY| 7,000 130,000 A 123,000
01 Al&H| 7,000 130,000 A 123,000
oOZdMEHYE2A XH2 IIXXD|
7,000,000& 7,000
2ZH=AEX S 40,000 270,000 A 230,000
401 AlEHIZL 201 Y| 40,000 270,000 A 230,000
01 Al&H| 40,000 270,000 A 230,000
OMESANE B 30,000,000 30,000
omIaz2Z"xd RIZ 10,000,000 10,000
ZEMENN S22 L WWEORE AIEEZ 700,000 0 700,000
J| 210,000
= 490,000
401 Al HI L 2 0HHI 700,000 0 700,000
J| 210,000
= 490,000
01 Al&H| 700,000 0 700,000
OXMMEHES2H L WZEOFRE AEBX
700,000,000& 700,000
J| 210,000
= 490,000
EFEIMIHEH AIEEL 400,000 0 400,000
J| 200,000
= 200,000
401 Al HI L 2 0HHI 400,000 0 400,000
J| 200,000
= 200,000
01 Al& H| 400,000 0 400,000
OEF2IINFHLHE AIEEZ 400,000,000 400,000




2N nEMs
g dEgds |4

S MFAIE 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 200,000
s 200,000
EFETEZINE B3 HESAE B+ & B 1,287,000 0 1,287,000
s 500,000
s 787,000
401 A& HIZ 201 I 1,287,000 0 1,287,000
s 500,000
s 787,000
01 A& 8l 1,287,000 0 1,287,000
OS=ZTEZIE 22 MsSAd E+ 2 B2
1,287,000,000& 1,287,000
s 500,000
s 787,000
HH2IAZH(REHSD) 74,991 172,059 A 97,068
S M2 58,935 157,251 A98,316
fAHE2HH 58,935 157,251 298,316
101 @14l 58,935 157,251 298,316
01 2=+ 50,444 46,346 4,098
OAZAZ2=Z 10,5093 16 +25A| 2t+ 128 50,444
02 JIEtE 2 == 8,491 110,905 A 102,414
OEMISA Ex(HEYHLR) 8,491
OAIELIZRAIZE 9,434 x3H +25A| 2+ x 123 8,491
|23 bl 16,056 14,808 1,248
Jl2234 16,056 14,808 1,248
201 Let24d] 11,256 10,608 648
01 At 2teltl 11,256 10,608 648
oA 2dH| 5,736,000 5,736
O=sgll Xtz 400,000 = 1CH 123 4,800
O&F=J Xz 60,0003 1CH*12& 720
203 YR =&l 4,800 4,200 600
04 REN2ELRZ=LH| 4,800 4,200 600
ORM2IYRFLH 400,000 x12& 4,800




